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Time : Three hours Maximum : 75 marks 

SECTION A — (10  2 = 20 marks)  

Answer any TEN questions. 

1. What is issue of shares at premium? 

 £[SPÒ •øÚ©zvÀ öÁÎ°kuÀ GßÓõÀ GßÚ? 

2. What do you mean by redemption of preference shares? 

 «Ò uS •ßÝ›ø©¨ £[SPÒ Gß£uß EÚx P¸zx ¯õx? 

3. What is Debenture? 

 PhÜmk¨ £zvμ® GßÓõÀ GßÚ? 

4. What do you mean by profit prior to Incorporation? 

 Cøn¨¦US •ß£õÚ »õ£® Gß£uß EÚx P¸zx ¯õx? 

5. What is a company final account? 

 {Ö© CÖv PnUSPÒ GßÓõÀ GßÚ? 

6. What is managerial remuneration? 

 {ºÁõP Fv¯® GßÓõÀ GßÚ? 

7. Define Goodwill. 

 |Øö£¯º GßÓ £uzøu u¸P. 

8. What is average profit? 

 \μõ\› C»õ£® GßÓõÀ GßÚ? 

9. What is normal rate of return? 

 \õuõμn Ãu Á¸Áõ´ GßÓõÀ GßÚ? 

10. What do you mean by life assurance fund? 

 ÁõÌUøP EÖv {v Gß£uß EÚx P¸zu ¯õx? 

11. What is re-insurance? 

 ©ÖPõ¨¥k GßÓõÀ GßÚ? 
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12. Write a note on valuation balance sheet. 

 ©v¨¤k C¸¨¦{ø»U SÔ¨¦ Gß£uß SÔ¨¦ ÁøμP. 

SECTION B — (5  5 = 25 marks)  

Answer any FIVE questions. 

13. Differentiate calls in advance and calls in arrears. 

 AøÇ¨¦ •ß ©ØÖ® AøÇ¨¦ {¾øÁ Gß£øu ÷ÁÖ£kzxP. 

14. X Ltd., issued 2, 00,000 equity shares of Rs.10 each at Rs.12 per 
share. The terms of payment being: Rs.2 on application, Rs.5 on 
allotment (including premium) Rs.3 on first call and Rs.2 on 
second and final call. Make necessary journal entries. 

 X ¼m 2,00,000 ö£õx {ø» £[SPøÍ JßÖ ¹.10 Gß£øu 

£[SöPõßÖUS ¹.12 GßÖ öÁÎ°mhx. ö\¾zxøu öuõøP¯õÚx. 

Âsn¨£zvß ÷£õx ¹.2 JxURmiß ÷£õx ¹.5 (•øÚ©® Em£h) 

•uÀ AøÇ¨¤ß ÷£õx ¹.3 ©ØÖ® Cμshõ® ©ØÖ® CÖv 

AøÇ¨¤ß ÷£õx ¹.2 BS®. ÷uøÁ¯õÚ SÔ÷£mk £vøÁ 

E¸ÁõUSP. 

15. A company issued 1,000 10% debentures of Rs 100 each at par, 
payable Rs. 40 on application and the balance on allotment. The 
public applied for 800 debentures. These applications were 
accepted. All moneys were received. 

 Give journal entries. 

 {ÖÁÚ® JßÖ 1,000 10% PhÜmk¨ £zvμzøu £zvμ® JßÖ ¹.100 

GÚ •P ©v¨¤À öÁÎ°mhx, öuõøPPÒ ö\¾zu¨£h ÷Ási¯x. 

Âsn¨£zvß ÷£õx ¹.40 ©ØÖ® «u•ÒÍøu JxURmiß ÷£õx® 

GÚU öPõshx. ö£õx ©UPÎhª¸¢x Âsn¨¤UP¨£mhx 800 

£zvμ[PÒ ©mk÷©. AøÚzx Âsn¨£•® HØUP¨£mhx. 

AøÚzx öuõøPPÐ® ö£Ó¨£mhx. SÔ¨÷£mk £vÄ u¸P. 

16. From the following particulars of Barath Ltd., for the year ended 
31.03.2002, calculate the net profit for managerial 
remuneration. 

 (a) Net profit as per P & L account Rs.16,00,000 

 (b) Remuneration and perquisites paid to managing director 
Rs. 75,000 and whole time director Rs.60,000 

 (c) Provision for doubtful debts made during the year 
Rs.30,000 

 (d) Provision for income tax Rs. 8,00,000 
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 £õμz ¼ªöhmiß 31.03.2002 B® Bsk CÖv°À •iÄÖ® 

Â£μ[PÒ ¤ßÁ¸©õÖ, AÁØøÓU öPõsk {ºÁõP Fv¯zv»õÚ 

{Pμ C»õ£zøu PnUQkP. 

 (A) C»õ£ & |mh PnUQß£i {Pμ C»õ£® ¹.16,00,000 

 (B) {ºÁõP C¯US|¸US ¹.75,000 ©ØÖ® •Ê ÷|μ C¯US|¸US 

¹.60,000 ©õÚx Fv¯® ©ØÖ® •Ê ÷uøÁ GßÓ ö£¯›À 

ö\¾zu¨£mhuõS®. 

 (C) |h¨¦ BsiÀ E¸ÁõUP¨£mh ÁμõUPhß JxUS ¹.30,000 

BS®. 

 (D) Á¸©õÚ Á› JxUS ¹.8,00,000 BS®. 

17. To calculate the amount of goodwill on the basis of three years 
purchases of the last year’s average profits. The profits for the 
last five years are; 

 Rs. 
I year 4,800
II year 7,200
III year 10,000
IV year 3,000
V year 5,000

 |Øö£¯º ©v¨¦ öuõøPø¯ Ph¢u BskPÎß \μõ\›  C»õ£zvÀ 

‰ßÓõsk öPõÒ•uÀ GßÓ Ai¨£øh°À PnUQkP. Ph¢u I¢x 

BskPÎß C»õ£[PÍõÁÚ 

 ¹. 
•u»õ® Bsk 4,800
Cμshõ® Bsk 7,200
‰ßÓõ® Bsk 10,000
|õßPõ® Bsk 3,000
I¢uõ® Bsk 5,000

18. Bring out the various methods of valuation of shares. 

 £[SPÒ ©v¨¤h¼ß £À÷ÁÖ •øÓPøÍ öÁÎUöPõnºP. 

19. A Life Assurance Company Prepared its Revenue account for the 
year ended 31.3.2006 and ascertain its Life Assurance fund to be 
Rs.28,35,000. It was found later that the following had been 
omitted from the accounts: 

 (a) Interest accrued on investments Rs.39,000, Income tax 
liable to be deducted thereon is estimated to be Rs.10,500. 

 (b) Outstanding premium Rs. 32,800 
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 (c) Bonus utilized for reduction of premium Rs.6,750 

 (d) Claims intimated but not admitted Rs.17,400 

 (e) Claims covered under reinsurance Rs.6,500. 

  What is the true Life Assurance Fund? 

 J¸ ÁõÌUøP EÖv {ÖÁÚ® 31.3.2006 Bsk CÖv |õÐUPõÚ 

Auß Á¸Áõ´ PnUøP u¯õ›zux ©ØÖ® Auß ÁõÌUøP EÖv {v 

¹.28,35,000 GÚ ©v¨¤h¨£h ÷Ási¯x. 

 ¤ßÁ¸® Â£μ[PÒ PnUQ¼¸¢x Âh¨£mhuõP AÔ¯¨£mhx. 

 (A) •u½k «x Áμ÷Ási¯ Ámi ¹.39,000.÷©¾® Auß «x 

PÈUP¨£mh ÷Ási¯ Á¸©õÚ® Á› ©v¨¤h¨£mhx 

¹.10,500. 

 (B) {¾øÁ •øÚ©® ¹.32,800 

 (C) PÈUP ÷Ási¯ •øÚ© öuõøP°À £¯ß£kzu¨£mh FUP 

öuõøP ¹.6,750. 

 (D) öu›ÂUP¨£mh E›ø© ÷PõμÀ AÝ©vUP¨£hõ©À EÒÍx 

¹.17,400 

 (E) ©ÖPõ¨¥miß RÌ Ah[Q¯ E›ø© ÷Põμ»õÚx ¹.6,500 

  Esø© ÁõÌUøP EÖv {v GßÚ Gß£øu PõsP. 

SECTION C — (3 × 10 = 30 marks) 

Answer any THREE questions. 

20. Standard manufacturing company Ltd. issued 50,000 shares of 
Rs.100 each payable as follows: Rs.20 on application, Rs.30 on 
allotment, Rs.25 on first call and Rs.25 on second and final call. 
The company received applications for 40,000 shares and all 
these applications were accepted. All sums due on allotment, 
first call and second and final call were received except the final 
call on 400 shares. These 400 shares were subsequently forfeited 
by the company and reissued to Sri Jawahar as fully paid at 
Rs.80 per share. 

 Give journal entries in the books of a company. 

 ì÷hshºk EØ£zv Áøμ¯Ö {Ö©® 50,000 £[SPøÍ 

£[öPõßÖUS ¹.100 GÚ öÁÎ°mhx. öuõøPPÒ ¤ßÁ¸©õÖ 

ö\¾zu¨£h ÷Ásk®. Âsn¨£® ¹.20, JxURk ¹.30, •uÀ 

AøÇ¨¦ ¹.25, Cμshõ® ©ØÖ® CÖvAøÇ¨¦ ¹.25.  {ÖÁÚ® 

40,000 £[SPÐUPõÚ Âsn¨£zøu ö£ØÖ AøÚzøu²® HØÓx. 
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JxURk •uÀ AøÇ¨¦ ©ØÖ® CÖv AøÇ¨¦ öuõøPPÎÀ 400 

£[SPÐUPõÚ öuõøPPÒ }[PÍõP AøÚzx öuõøPPÐ® 

ö£Ó¨£mhx. Auß öuõhºa]¯õP 400 £[SPÐ® JÖ¨¤Ç¨¦ 

ö\´¯¨£mk ÿ áÁíº Gß£Á¸US J¸ £[S ¹.80 GÚ •Êx® 

ö\¾zu¨£h ÷Ási¯ öuõøPPÍõP ©Ö öÁÎ±k ö\´¯¨£mhx. 

 {ÖÁÚ HkPÎÀ ÷uõßÖ® SÔ¨÷£møh u¸P. 

21. Star and Co was incorporated on 1-7-2010 to take over the 
business of Sky & Co. as a going concern from 1-4-2010. The 
Profit and Loss Account for the year ending 31-3-2011 was as 
follows: 

Profit and loss Account of Star & Co for year ended 31-3-2011 
Dr   Cr 

Particulars Rs. Particulars Rs. 
To Rent and Taxes 15,000 By Gross Profit 2,26,200 
To Insurance 5,000   
To Electricity Charges 3,600   
To Salaries 48,000   
To Director’s Fees 5,000   
To Auditor’s Fees 2,400   
To Commission 10,000   
To Advertisement 5,500   
To Discount 6,400   
To Office expenses 10,000   
To Carriage 5,000   
To Bank Charges 4,500   
To Bad Debts 4,400   
To Preliminary Expenses 9,600   
To Interest on Loan 3,800   
To Net Profit 88,000   
 2,26,200  2,26,200 

 The total turnover for the year ending 31-3-2011 was  
Rs. 8,00,000 divided into Rs. 2,50,000 for the period up to  
1-7-2010 and Rs. 5,50,000 for the remaining period. Ascertain 
the Profits earned prior to the incorporation of the company. 

 ìhõº & ÷Põ 1.7.2010 AßÖ ìøP & ÷Põ ÁoP {ÖÁÚzøu 

GkzxU öPõsk ußÚPz÷u CønzxU öPõshx. A¢{ÖÁÚ•® 

1.4.2010 •uÀ ö\¯À£mkU öPõsi¸¢ux. 31.3.2011 B® Bsk 

CÖvUPõÚ C»õ£&|mh PnUS ¤ßÁ¸©õÖ 
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 31.3.2011 B® Bsk CÖvUPõÚ ìhõº & ÷Põ {ÖÁÚzvß C»õ£ 

|mh PnUS  
£ØÖ   ÁμÄ 

Â£μ[PÒ ¹. Â£μ[PÒ ¹. 

ÁõhøP ©ØÖ®  Á›PÒ 15,000 ö©õzu C»õ® 2,26,200 
Põ¨¥k 5,000   
ªß\õμ Pmhn® 3,600   
\®£Í® 48,000   

C¯US|º Pmhn® 5,000   

uoUøP¯º Pmhn® 2,400   

uμS 10,000   

ÂÍ®£μ® 5,500   

uÒÐ£i 6,400   

A¾ÁÀ ö\»ÄPÒ 10,000   

yUS T¼ 5,000   

Á[Q Pmhn® 4,500   

ÁμõUPhß 4,400   

•ußø© ö\»ÄPÒ 9,600   

Phß «uõÚ Ámi 3,800   

{Pμ »õ£® 88,000   

 2,26,200  2,26,200 

 31.3.2011 AßÖ Auß ÂØÖ •u»õÚ ¹.8,00,000©õÚx 1.7.2010 

Áøμ°»õÚ Põ»zvØUS ¹.2,50,000 GÚÄ® «v²ÒÍ Põ»zvØS 

¹.5,50,000 GÚÄ® £Qμ¨£mhx. {ÖÁÚ Cøn¨¦US •ß£õÚ 

©ØÖ® ¤ß£õÚ Dmi¯ C»õ£zøu AÍÂkP. 

22. The Alfa manufacturing company Ltd was registered with a 
nominal capital of Rs.6,00,000 in equity shares of Rs.10 each. 
The following is the list of balances extracted from its books on 
31st December, 2004. 

 Rs. 

Wages 84,865 

Calls-in —Arrears 7,500 

Premises 3,00,000 

Plant and Machinery 3,30,000 

Interim Dividend paid on 1st  August, 2004 37,500 

Stock 1st  January, 2004 75,000 

Fixtures 7,200 
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 Rs. 

Sundry Debtors 87,000 

Goodwill 25,000 

Cash in hand 750 

Cash at bank 39,900 

Purchases 1,85,000 

Preliminary Expenses 5,000 

General expenses 16,835 

Freight and Carriage 13,115 

Salaries 14,500 

Director’s fees 5,725 

Bad debts 2,110 

Debenture interest paid 9,000 

Subscribed and fully called —up capital 4,00,000 

6% Debentures 3,00,000 

Profit and loss account (Cr) 14,500 

Bills payable 38,000 

Sundry Creditors 50,000 

Sales 4,15,000 

General reserve 25,000 

Bad debts reserve 1st  January, 2004 3,500 

 Prepare Trading, P& L account and Balance sheet in proper 
form after making the following adjustment. Depreciate Plant 
and machinery by 10%. Write off Rs.500 from preliminary 
expenses. Provide half year’s debenture interest due. Leave bad 
and doubtful debts reserve at 5% on sundry debtors. Stock on  
31st December, 2004 was Rs.95,000. 

 BÀ£õ Áøμ¯Ö EØ£zv {ÖÁÚ® Auß ö£¯μÍÄ •uø» 

¹.6,00,000 ö£õx {ø»¨£[SPÒ £[öPõßÖUS ¹.10 Ãu® öPõsk 

£vÄ ö\´v¸¢ux. ¤ßÁ¸ÁÚ AøÚzx® 31 i\®£º 2004 AßÖ 

GkUP¨£mh \›¯õÚ Â£μ[PÍõS®. 

 ¹. 

T¼ 84,865 

AøÇ¨¦ {¾øÁ 7,500 

ÁÍõP® 3,00,000 



 62518/CZ23A/AY23A 8

 ¹. 

ö£õÔ ©ØÖ® C¯¢vμ® 3,30,000 

1 BPìm 2004 ö\¾zv¯ Cμmøh £[Põu¯® 37,500 

1 \ÚÁ› 2004&À \μUS 75,000 

ö£õ¸zxUPÒ 7,200 

ö©õzu PhÚõÎPÒ 87,000 

|Øö£¯º 25,000 

øP°¸¨¦ öμõUP® 750 

Á[Q°¸¨¦ öμõUP® 39,900 

öPõÒ•uÀ 1,85,000 

•ußø© ö\»ÄPÒ 5,000 

\μUS ©ØÖ® Ási Pmhn® 16,835 

\μUS ©ØÖ® Ás yUS 13,115 

\®£Í® 14,500 

C¯US|º Pmhn® 5,725 

ÁμõUPhß 2,110 

ö\¾zv¯ Phß£zvμ Ámi 9,000 

£vÄ ö\´¯¨£mh ÷Põ›¯ •uÀ 4,00,000 

6% PhÜmk £zvμ® 3,00,000 

C»õ£&|mh PnUS (ÁμÄ) 14,500 

ö\¾zxÁuØS›¯ ©õØÖa^mk 38,000 

ö©õzu PhÜ¢÷uõº 50,000 

ÂØ£øÚ 4,15,000 

ö£õxPõ¨¦ 25,000 

1 \ÚÁ› 2004 ÁμõUPhß Põ¨¦ 3,500 
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 ¤ßÁ¸® \›PmkuÀPøÍ \›ö\´u¤ß \›¯õÚ •øÓ°»õÚ 

Â¯õ£õμ Cμõ£ ©ØÖ® |mh PnUS, ©ØÖ® C¸¨¦ {ø» SÔ¨ø£ 

u¯õ›UP. 

 ö£õx ©ØÖ® C¯¢vμ® «x 10% ÷u´©õÚ•®, •ußø© ö\»ÄPÒ 

«x ¹.500&® ÷£õUöPÊuÄ®. 

 Aøμ Bsk Põ»zvØS PhÜmk £zvμ Ámi «x {¾øÁ 

E¸ÁõUSP. PhÚõÎPÒ «x Áõμõ I¯UPhß JxUS 5%, AÎUP¨£h 

÷Ásk®. 31 i\®£º 2004 AßÖ Auß \μUQ¸¨¦ ¹.95,000 ©õP 

EÒÍx. 

23. The issued share capital of a company was Rs.10,00,000 
consisting of 10,000 equity shares of Rs.100 each. The net profits 
for the last 5 years were: Rs. 1,00,000; Rs.80,000;Rs. 1,20,000; 
Rs. 1,40,000, 1,60,000 of which 20% was placed to reserve, this 
proportion being considered reason able in the industry in which 
the company is engaged and a fair investment return may be 
taken at 12%. 

 Compute the value of the company’s share by the yield value 
method. 

 {ÖÁÚzvß öÁÎ°h¨£mh ‰»uÚ©õÚ ¹.10,00,000 Gß£x 

10,000 ö£õx {ø» £[SPÒ £[öPõßÖUS ¹.100 GÚU öPõshx. 

Auß Ph¢u I¢uõsk C»õ£[PÒ •øÓ÷¯ ¹.1,00,000, ¹.80,000 

¹.1,20,000 ¹.1,40,000, ¹.1.60.000 Gß£vÀ 20% Põ¨£õS®. 

C¨£Sv¯õÚx \›¯õÚ Põμn[PÐUPõP {ÖÁÚ® Aøu 

E£÷¯õQzxU öPõshx ©ØÖ® 12% ©õÚx Esø© •u½mk 

Á¸Áõ´US GkzxU öPõÒÍ£h»õ®. {ÖÁÚzvß £[Qß ©v¨ø£ 

Á¸Áõ´ PnUQkP. 

24. From the following balances extracted from the books of a Life 
Insurance Corporation as at31.3.2006, prepare Revenue account 
for the year ending 31.3.2006 in the prescribed form 

 Rs.  
(in ‘000) 

 Rs.  
(in ‘000) 

Claims by death 3,30,000 Life Assurance Fund (1.4.05) 63,31,000 

Claims by maturity 2,15,000 Premiums 20,65,000 

Agent’s allowances 26,500 Bonus in reduction of 
premiums 

 

1,000 

Salaries 44,200 Income tax on interest and 
dividends 

 

5,700 

Travelling expenses 1,200 Printing and Stationery 13,900 

Directors fees 8,700 Postage and Telegrams 14,300 

Auditor’s fees 1,000 Receipt stamps 2,300 
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Medical fees 52,000 Reinsurance premiums 40,950 

Commission 2,18,000 Interest and Dividends (Gross) 2,72,000 

Rent 2,800 Policy renewal fees 9,600 

Law charges 200 Assignment fees 540 

Advertising 4,300 Endowment fees 690 

Bank charges 1,500 Transfer fees 1,400 

General charges 2,000   

Surrenders 47,500   

 Provide Rs. 1,500 Thousands for depreciation of furniture and 
Rs. 2,20,000 Thousands for depreciation on investments. 

 ¤ßÁ¸® Â£μ[PÒ 31.3.2006 AßÖ B²Ò Põ¨¥mk {ÖÁÚzvß 

HkPÎ¼¸¢x GkUP¨£mh \›¯õÚ Â£μ[PÍõS®. CÁØøÓU 

öPõsk \›¯õÚ Aø©¨¦ •øÓ°»õÚ Á¸Áõ°Ú PnUøP 

31.3.2006US u¯õ›UP. 

 ¹.  
(‘000 

B°μzuÀ)

 ¹.  
(‘000 

B°μzuÀ) 

CÓ¨¤»õÚ ÷PõμÀ 3,30,000 B²Ò EÖv {v (1.4.05) 63,31,000 

•vºÂ»õÚ ÷PõμÀ 2,15,000 •øÚ©® 20,65,000 

•PÁ›ß £iPÒ 26,500 •øÚ©zvÀ PÈUP¨£h ÷Ási¯ 

FUP öuõøP 

 

1,000 

\®£Í® 44,200 Ámi ©ØÖ® £[Põuõ¯® «uõÚ 

Á¸©õÚ Á› 

 

5,700 

£¯n ö\»ÄPÒ 1,200 Aa_ ©ØÖ® GÊxö£õ¸Ò 13,900 

C¯US|º Pmhn® 8,700 u£õÀ ©ØÖ® u¢v 14,300 

uoUøP¯º Pmhn® 1,000 ìhõ®¨ Á¸Áõ´ 2,300 

©¸zxÁ Pmhn® 52,000 ©Ö Põ¨¥mk •øÚ©® 40,950 

uμS 2,18,000 Ámi ©ØÖ® £[Põuõ¯® (ö©õzu®) 2,72,000 

ÁõhøP 2,800 Põ¨¥mk ¦x¨¤¨¦ Pmhn® 9,600 

\mh Pmhn® 200 £o Pmhn® 540 

ÂÍ®£μ® 4,300 Bìzv Pmhn® 690 

Á[Q Pmhn® 1,500 ©õØÖ Pmhn® 1,400 

ö£õx Pmhn® 2,000   

J¨£øhÄPÒ 47,500   

 AøÓP»ß «x ¹.1,500 B°μ[PÒ ÷u´©õÚ® AÝ©vUP¨£h 

÷Ásk® ©ØÖ® •u½kPÒ «x ¹.2,20,000 B°μ[PÒ ÷u´©õÚ® 

AÝ©vUP¨£h ÷Ásk®. 
————————— 


